Conservation of Mechanical Energy

Monday, November 4, 2013 7:55 AM

A rollercoaster has a mass of 500 kg. At the top of a 14 m hill, it has a velocity of 2 m/s. Find its velocity at the bottom.
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A spring is pulled back 20 cm. Its spring constant is 50 N/m and its mass is 30 g.

1. How fastis it when you just let it go? ?
2. How high will it rise? Q “- 7
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A ball hangs on a string that is 2 m long. The ball has a mass of 2 kg and is pulled back to an angle of 35

degrees above the vertical and then released. What is its velocity at the bottom?
* 2 il 5 >\
p L) \ - i B

AP Physics 1 Page 1



AN 200%3Y
2 |
- laN
" 2con 35 “;\
ﬁé’ k%&‘&q 2= 2¢052S % W

e o N=2-2005%F

"E—%& V.Q‘E
N\%\f\\. N‘\\ 3

IQSO'%Lp‘ -2-Ne 2en
. Oq \‘&wmls

Hotwheels Problem
A hotwheels car flies off a 1.2 m tall table with a velocity of 3 m/s. What is its final velocity?
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